i
I
iy
T
P=ai
I

1. ¥4
EH4 FO R AR B
AT T AL AT T 2142 G il | ELE S ATE W)

2. ¥HENRE

1) FHEI4

2) JEATHIMH

i

FCREDE SRRSO B R

197 HH H 4 6411715H
& 4 T4 5H30H

3) WErEMA

4) EBNE

EtrEE T R



W4 | frEE RS RS ER
H H
THH - TR - R 7 # & FH A OBN R
TH R 2V 9, 062, 276
TR M OVF T = 9, 062, 276
LT % 3,635,400 | FWDF#A
200 =y
FWDfEHT
200 =y
FWDARHT s RAEFE - £ 20
200 R
ALEARAE F EIR X 2,001,720 | FHEYEfE
1 X
B R SR AT s e
1 X
s TIE O
1 X
WEEIER
1 X
TE R RN E X 3,425,156 | &fidflitssss
2 km
I = 932, 800
il GREFED) X 932, 800
A% 2V 652,400 | 7ot
1 =
RAGRHBIFT & ik
1 =
Z DA, X 153,200 | A [RIH MRS
1 [=]
A EE T X D
3 []

EtrEE T R



Tl
P

=
=

¥4 | EE AR RS ER i EHES
H H BLsii]
B E I % i 3 B {7 # & #A OB N R
INBH R SRR = 127,200 | ZABHECH AL VERR
1 X%
B =X 479, 696
[EREE 3 =X 479, 696
R EE =X 58,696 | ik (it L - fEiRdmE)
1 =
%%E}Z%lﬁlﬁzﬁk% it: 421, 000 %%Eﬁ%%f’?ﬁk%
1 =
EEFM (2 oMFEMmER<) = 10, 474, 772
Z OJFEAT = 5,017, 161
— N E B = 8, 338, 067
SRS oy 23, 830, 000

EtrEE T R



